Theorems with Chords and Arcs

Theorem

Example

If two chords are congruent then their arcs are
congruent

Find the length of KM. — R
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Two chords are congruent if they are
equidistant from the center of the circle
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Are JK and ML congruent?

K No — The clodds

or€ o &%rﬁ'
Hre cevder .
J L
M

Two chords are congruent if and only if they are
equidistant from the center of the circle.

Find the measure of YX.
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To be a diameter the chord must be a
perpendicular bisector of another chord.
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Is QS a diameter? Why or why not?
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Pythagorean Theorem.

A chord in a circle is 18 cm long and is 5 cm from the center
of the circle. What is the length of the radius of the circle?
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Chords Warm-up

1. Find the measure of arc YZ if the measure of arc XW = 95°
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1. Are segments TQ and UQ congruent?
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2. Find the measure of GF.
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3. Issegment QS a diameter? Explain your reasoning.
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4. The chord of a circle is 15 inches and it is drawn 4 inches from the center of the circle. What is the

length of the radius of the circle?
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